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Variation Functlons

21. The frequency of vibration of a guitar string varies mversely with the length of the guitar string.
Suppose a guitar string is 0.65 meters long, and vibrates 4.3 times per second. At what frequency
would a string that is 0.5 meters long vibrate?
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22. The amount of calories a person burns varies directly with the amount of miles that they run. Sonya
ran 2 miles on a treadmill. The display reported that she burned 220 calories. She wants to treat
herself with a hot fudge sundae after her workout. A hot fudge sundae has 380 calories. How far
does Sonya have to run to burn off that many calories?
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23. The current in a simple electrical circuit is\’nversely proportional to the resistance. If the current is
80 amps when the resistance is 50 ohms, find the current when the resistance is 22 ohmes.
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24. The amount of money you earn varies directly with amount of time that you work. If you work 6.5
hours, you will make $66.95. If you made $97.85, how many hours did you work?
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Topic: Solve quadratic equations. Q\Q
11. x2—5x+10=0 12. —2x2+4x-|;?s=_%%
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4. Substitute the solutions back into the functions to see if the outputs are elements in the
range of each function.

Jx)=x-1 g(x)=\/2x+6

5. Are all of the outputs elements in the range of both functions? Explain why or why not.

6. If the square root function was reflected over the x-axis, so that it’s equation was

h(x)= — \2x + 6, what would be the solution to the equation x — 1 = — \2(x+3) ?

T

Solve the following equations algebraically. Be sure to check for extraneous solutions.

7) 2=3x+5 8) 2x+3=23 9) £=9-3x
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10) 4x—7=2 11) 3x+5=V2x—1+5 12) 4x—2="x+3
13) Vix = —2x+4 14) 0.5x—8=2-2¥x+1 15) x—7= — V4x-8
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